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Find the value ofx. If necessary, round your answer to the nearest tenth. O is the center of
the circle. The figure is not drawn to scale.
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Find the value ofx. If necessary, round your answer to the nearest tenth. O is the center of
the circle. The figure is not drawn to scale.
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Find the value ofx. If necessary, round your answer to the nearest tenth. O is the center of
the circle. The figure is not drawn to scale.
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Find the value ofx. If necessary, round your answer to the nearest tenth. O is the center of
the circle. The figure is not drawn to scale.

A, 105 B. 1113 C. 63 D.
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Find the value of x. If necessary, round your answer to the nearest tenth. O is the center of

the circle. The figure is not drawn to scale.

FG 1 OP, RS LOQ, FG=25,R§=34, 0P =20

"

Find the value of x. If necessary, round your answer to the nearest tenth. O is the center of

the circle. The figure is not drawn to scale.

FG 1L OP, RS LOQ, FG=26,R§=34, 0P =20
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Use the diagram. .._‘m is a diameter, m:.—h—‘mFﬁ.‘U. The figure is not drawn to scale.
C

A B

D

Which statement is NOT true?

A. 4C=3D C. /BDA = ZACB
B. 4C = 4D D. msPBC = m/DBA
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Use the diagram. ABisa diameter, and 4B 1 CD. The figure is not drawn to scale.

(o)

D

Find m BD for mAC = 32.
A 148 B. 122 C. 64 D. 58




geometree_pt07_notes.gwb - 9/9 - Sat Feb 10 2018 15:23:20

powered by
mxw:..s.mm..w

Use the diagram. ABisa diameter, and 4B 1 CD. The figure is not drawn to scale.

(o)

D

Find m BD for mAC = 51.
A 128 B. 102 C. 38 D. 141
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